11.6 Implicit Differentiation

We are used to explicit functions where y is a direct function of x. Now we will talk about implicit
functions where we can't solve for y but we always keep in mind that y is a function of x.

Examples: Find dy/dx using implicit differentiation and by solving for y.
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Examples: Find the derivative dy/dx using implicit differentiation
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Examples: Use implicit differentiation to find the slope of the tangent line and the equation of the

tangent line at the indicated point.
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